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1. Those concerned by the long-term effects of global warming believe that the damage has been done, _. 

A.whether we take remedial steps now
B. if or not we take remedial steps now

C. whether we take remedial steps now or not
D. unless we take remedial steps now
2. _______________ for the elderly, the need to take it for walks may be a disadvantage.

AHowever a dog may be a good companion 

B. Whatever a dog may be a good companion  

C. Whatever good a companion a dog can be 

D. However a good companion a dog can be 

3. __________lie detector tests are not allowed as evidence in the courts, it is nevertheless a useful investigative tool.


A. Unless
B. If
C. Because
D. Although 

4. Many exceptions______ the rules of English usage make English difficult to master.
A. of                B. off             C. to               D. on
5. ______you will carry out my instructions or I will offer the job to someone else.
A. Either           B. Unless          C. Until             D. Whether
6. As is well known, the unemployment ________increasing in the country since the second half of 2008.

A. kept            B. had kept        C. has been keeping    D. was keeping
7. Of the making of good books there is no end; neither ______ any end to their influence on man’s lives.

  
A. there is    
B. is there    
C. it is    
D. is it

8. Space exploration has been made _________with the development of modern science and technology.

	A. it possible
	B. it was possible
	C. that possible
	D. possible


9. Chocolate of various shapes and flavors are generally considered to be ______ gift.

	A. most welcomed
	B. the most welcomed
	C. a most welcomed
	D. a most welcome


10.I won't pay 20 for the jacket; it's not worth________. 

	A. all that much
	B. that much all
	C. that all much
	D. much all that


11. In some markets there may be only one seller. ________ is called a monopoly.(垄断)

	A. Situation as this
	B. Such kind of situation

	C. Such a situation
	D.A situation of this


12. Over the past 30 years, the Internet has been developing so fast that the inventors ______ that IPv4 address exhaustion would arrive so soon.

A. could predict        B. must have predicted     C. ought to predict      D. couldn’t have predicted

13. The tennis final between Li Na and Kim Clijsters which ______ live to the world once again sparked(点燃) the patriotic passion of Chinese sports lovers.

A. was televised         B. televised          C. was televising    D. has televised

14.-- It rained heavily yesterday. Did you get wet?
-- Quite lucky,
got on the train when it poured down.
A. no sooner had I        B. I have no soonerC. hardly had I   .D. scarcely I had
15.
In a training program, the astronauts had to put up with pressure _____________ the force of gravity and carry out both physical and mental tasks at the same time.

A. as three times         B. three times as         C. three times
D. as three times as
CADCA   CBDDA   CDACC
简要解答:

1.不论我们是否采取措施,那些担心全球变暖的长期效应的人相信,破坏已经造成了.

2.how+形容词或修饰形容词,表程度. What+名词或修饰名词.

  A中 however修饰good, 还原为however good a companion a dog may be

  C中应为However good a companion a dog can be 

3.表转折.尽管…..那也未尝不是个有用的探测工具.

4.固定搭配. Exceptions to sth

5.either or . 要么..要么   二者选其一.

6.since表示从…起,用完成式.一直延续到现在并且将继续延续,用现完进行时.

7.neither句首倒装

8.宾语被提前.句子还原为sb make it possible that.. it即指代space exploration.
9.welcome是形容词.  类似于you are welcome , 这里就是这个用法,不用welcomed.

10.worth+ that much. 当有all修饰,放 that前面.

11. situation可数 ,直接用a, 没有such kind of situation 这种表达方式.

12.网络发展太快了,当初发明者不可能预测到ipv4…..)会这么快出现.

13.比赛被直播.故用be televised.

14.副词句首倒装,注意搭配. No sooner …. Than    hardly …. When     scarcely …when. 

15.容易误选 . 倍数直接接比较的东西.
